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A B C D
301 bal3 | 1c1l | Al
302 ball | 1c12 | Bo
305 bal2 | 1c55 | Ca
307 ba3l | 1c31 | Ha
310 ball | 1¢17 | Al
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(a) Data-link Layer vs. Network Layer
(b) Manchester Encoding vs. Quadrature Amplitude Modulation
(c) CSMA vs. CSMA/CD
(d) Message Authentication Code vs. Digital Signature
(e) Go-back-N Protocol vs. Stop-and-Wait Protocol
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importjava.utiI.Random;

public class BubbleSort
{

private int[] data; // array of values

private static Random generator = new Random();

public BubbleSort( int size )

{
data = new int[ size ]; // create space for array
for (inti=0;i<size; i++)
data[ i] = 10 + generator.nextint( 90 );
} ‘

public void sort() |

{
for (iint pass = 1; pass < data.length; pass++)
{
for (int index = 0; index < data.length - 1; index++ )
{
if ( data[ index ] > data[ index+11])
swap(index, index + 1 );
}
1
}

public void swap( int first, int second )

{
int temporary = dataf first J;
datal first ] = data[ second ;
data[ second | = temporary;
}

pubilic String toString()
{ .
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StringBuilder temporary = new StringBuilder();

for ( int element : data )

temporary.append( element+" " );

temporary.append("\n" );
return temporary.toString();
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public class Questionl {
int a=5;
public void methodA(){
int a=7;
a=atl;
this.a=a+2;
System.out.print(a); }

}

public class QuestionlTest {
public static void main(String[] args){
Question] aa = new Question1();
aa.methodA();
System.out.print(aa.a); }

}

+ AT A# X avaR XN E > WA ToRAE (109%)

(1) XN EHMBHFH SR FREMBZTHIBRAHFZREA - EE
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1 public interface B{ - public void c(); }

2

3 public class A implements B{

4 public void AQ{ System.out.print("2"); }

5 public abstract void a(); //This line is correct

6 public final void f(){ System.out.print("A"); } /This line is correct
7 public void g(){ System.out.print("¥"); }

g public final double zz;

10 J

g public class C extends A{  //This line is correct
13 public C(){

s System.out.print("Q"); }

16 public void a){ System.out.print("8"); }
17 public void c(){ System.out.print(" "); }
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18 public void d(){ System.out.print("®"); }
19 public void f(){ System.outprint("w"); }

g(l) public void g){ System.out.println("1"); }
22 )
%Z public class Question2Test{

public static void main(String args [D{

25 A al =new C();

26 Ccl =new C();

27 cl=al;

gg cl.d(;
al.g0; }
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javadjava Question3 10 2
he result is: 45




